RETAM 3M#H FZFX o1

1. ROALEXRZMIT. (SHk10358, Afk2720%, B4, C#H64)

(1) log, z < 4 (2) 2logs x < logs x + logs 3

(3)  logiz =logy (v - 2)
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2. RDOARHERXZMBT. (SHKk2320, A3930%, B#K553208, CH87)

(1) loggz <2 (2)  2logyx > log, x — log, 2

(8)  logyz 2log, (5 — =)

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

REETAL X FFX 01 HBEEESH

1. ROALEXRZMIT. (SHk10358, Afk2720%, B4, C#H64)

* BEBEMG 2 0T ROICHEZREL T 2 L.
* X & RKBER
{0<a<1 DL E, A<B & log,A>logaB < ED 1 &DINEWE ZRNBERIZ S

1<a DEE, A<B & log,A<logaB < EHM1&DKREVWEZTKNBRISHERF

(1) log, z < 4 (2) 2logs x < logs x + logs 3

* BB 2 >0

KB 2 >0
LXK & logy 2% < logs (37)

HHA & logyz < 4log, 2
& 22 <3z »D 0<zx

< logy x < log, 24
< x(r—3)<0 D 0<zx

& x < 24 1o 0 <z (BEEE)

& 023 »D 0<z
& r <16 PO 0<z

0<x<3
0<z<16

(3) log%xglogg(fo)
KEBGMDS, 2>0pD02-2>0 & >2
el = 18T _ o0 0 chBmD,
53X & —logyz =log, (x — 2)
< 02=loggz +logs (x —2)
< loggl =loggz(x —2)
& 12z(x—2) MmO 2<x

< 22 -20—-1<0 PO 2<x

& 1-V2<z<14V2 O 2<z

2<x<14++V2
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2. ROGREMBT. (SH2720%, Af3730%, B#5D 208, C#%84y)

(1) loggz <2 (2)  2logyx > log, x — log, 2
K EHSA x>0 K EHSEA 2 >0
5®% & logyo < 2logy3 58 &  log,a?> log, (%)
& loggz < log; 32 & 22 > % PO 0<z
< v <3 o 0<a & x(azf%>>0 »D 0<uz
=3 <9 D 0<z

& rx<02@%<xj PO 0<x

0<xz<9
< x

|-

(3) log1 2 log, (5 — @)
*EEGAM DS, 2>0hD5-2>0 & 0<z<5b

ol = 19827 _ oo 0 THBHS,

logzé
5K & —logy z 2 log, (5 — )
& 0 = log, « + log, (5 — )
& log, 1 = logy (5 — x)
& 12z(5—2) »D 0<x<b
& 22 —5x+12>0 D 0<z<b

<5H—+21 2V
& '—x*52 Mix 5+2 21§xJ D 0<z<5b

0<$gé:§££ygéi%££gm<5

© BU# - B L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

